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QUESTION 1

What is the slope of a line that passes through the points (5, 2) and (1, 3)?
A.1/3

B. -1/3

C.3

D.5

Correct Answer: A

W, — U
m= ;T

.'l.'_*.v = l'l

If the first point (5, 2) = (x1,y1) and the second point ( 8 , 3) = (x2,y2), then substituting these coordinate values into the
definition for the slope yields

-2 1

M= _:—

-5 3
QUESTION 2

What is the equation of a line that passes through the point (3, 1) and has a -2/3?

2 2 2 2
A. =——2 B. i=—=2%8 L. j=——x-3 D. j==2-3
3 3 3 3
A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

You can use the information provided by the specific point and the value of the slope to derive the equation for the line:
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2 — M
X2 — X

2 .'Iz-("]q iz +1

—_——

]_xl—(—l}ﬁ:rz+1

m=

"
iy, +1 :—?-(:-:1+3)
7 2
I +1= —%xl —%(3)
2
i +1 :“"]‘-"5: —
2
u:—Tx—l
QUESTION 3
A -7
B.2
C.6
D.7

Correct Answer: D

QUESTION 4

What is the solution of the following system of equations? x+y=4 and 2x6y=3 A. Option A

\. '-.:—E.y:i B. I:EI;:—E{‘. 1.:£,_|]¢:i D. ,-:i".ljzi
5 B s = s 8 27 3

B. Option B

C. Option C

D. Option D

Correct Answer: C
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QUESTION 5
(6ayPz®) + (3x2y 2=

22 y s 22

e

A.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

2+ x—42
g 12}
X+

QUESTION 6

Express in scientific notation: 13.9
A.1.39 x 101

B. 1.39 x 101

C.13.9x 101

D. 13.9 x 101

Correct Answer: B

In scientific notation, the number 13.9 is 1.39 x 101.

QUESTION 7
What is the slope of a line that passes through the points (3, 3) and (3, 3)?
A.3

B.-3
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C.0
D. undefined
Correct Answer: C

The slope of a line that passes through the points (3, 3) and (3, 3) can be found by:

h=n . ¥4 0 .

00y — X - 3—{—}]: 6

m=

QUESTION 8

Upon rolling a pair of dice, what is the probability that the sum of the two numbers on the dice is either 7 or 12?
A. 1/6

B. 1/36

C.5/36

D. 7/36

Correct Answer: D

QUESTION 9

Evaluate the following derivative: A. Option A

f_f(i)
dx\ 3x8

\ 40 B 40 C 40 D 40
T XY T oa? T 9 T x?
B. Option B
C. Option C
D. Option D

Correct Answer: A
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QUESTION 10

The ratio of boys to girls in the graduating class of a school is 3:2. If there are a total of 430 students in the class, how
many girls are in the graduating class?

A. 74

B. 86

C.172

D. 215

Correct Answer: C

To find the total number of girls in the science class, we must first find the fraction of students in the class who are girls.
For every set of 5 students, 2 students are girls, yielding a fraction of 2/5 . Thus, the total number of girls in the class is
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)
—x430=172.
|
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QUESTION 11

What is the probability that two cards drawn from a deck of cards are of a black suit (e.g., either clubs or spades) if the
first card drawn is replaced before the second card is drawn?

A. 1352/2704

B. 676/2704

C. 6/2704

D. 2/2704

Correct Answer: B

Because the two drawings are made from a complete deck of cards, the two events are independent of one another.
You first need to determine the probability of drawing a card of twosuits from a deck of cards. Out of a total of 52 cards,
there are 13 cards of any suit and 26 cards of a black suit. The probability of drawing a card of a black suit, P(A), is

26/52. Because the first card is replaced before the second drawing, the probability of drawing a card of the same suit,
P(B), is also 26/52. Thus, the probability of drawing two cards of the same suit is

26 26 676
P(A and B)=P[A)-P(B) = — .22 - 277

52 52 2704

QUESTION 12

A full-time employee works 40 hours during a five-day week. The percentage of a five-day week that the employee is at
work is:

A. 20%
B. 33%
C. 40%
D. 50%

Correct Answer: B

QUESTION 13
What is the range of the data set?
A.3.7mL

B. 4.5mL
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C.5.8mL
D. 9.8mL
Correct Answer: D

The range or the difference between the largest and smallest values in this data set is 12.2mL2.4mL=9.8mL.

QUESTION 14

Evaluate the following definite integral:

J‘(x;— 6hxd + H:u:+3]d.'-.'

A. 110

B. 364

C. 148

D. 250

Correct Answer: B

You begin by solving the integral and then evaluating the result between the limits of 2 and 4.

0 ex* 8yl
( —ﬁ1‘+31+?:11_{———+T+?

aa

o e s

I

- - +
Z I 6 4 2

#

Il

[ SO N[ LG L

4096 1536 128 64 96 32
+ +8 |- =4

_+++s 80 4368

2 12 12 oot

QUESTION 15
What is the probability of randomly selecting a ten card from a standard deck of cards?

A. 1/52
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B. 1/13
C. 12/13
D. 51/12

Correct Answer: B

To determine the probability that a selected card is a ten, you should first note that a card can be selected from a deck
inn= 52 different ways. Since there are four ten cards, one ten for each of the four suits, a ten can be drawn from the
deck ins= 4 different ways. Thus, the probability that the selected card is a ten is:

. k-1
F=a " 52" 13
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